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Item:
Item # Grade Claim Target DOK | Standards Evidence Statement
1. The student will identify text
evidence (explicit details
and/or implicit information) to
support a GIVEN inference or
1 7 1 8 2 RE2 conclusion based on the text.

Select the sentences that support the inference that the area is in danger of losing its moose
population. Select all that apply.

A similar boom-and-bust cycle occurs between predator and prey. Ten times the size of a wolf,
a moose has long, strong legs and a dangerous kick. So wolves prey mainly on old and weak
animals. Good hunting means food for the whole pack. Wolves then raise lots of pups, and
their numbers increase. More wolves mean more mouths to feed and more moose get eaten.
However, when the moose population decreases, wolves starve.

Key :
Wolves then raise lots of pups, and their numbers increase.

More wolves mean more mouths to feed and more moose get eaten.

Rubric : (1 point) Student selects both correct sentences.
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Item # Grade | Claim | Target | DOK | Standards Evidence Statement
The student will identify text evidence
(explicit details and/or implicit
information) to support a GIVEN infereng
2 7 1 8 2 RE2 or conclusion based on the text.

§Which of the following sentences from the passage best support the conclusion that all living
organisms_are part of the food chain?

& "The energy you use to live every day travels from one living thing to another, in a chain
that starts with the sun.”

® "This energy then helps plants change water from the soil and carbon dioxide from the air
into oxygen and carbohydrates that power their cells.”

© “Food chains everywhere—in grasslands and deserts, oceans and tropical rainforests—begin
with the producers.”

=)

@ "Scientists have been studying this isolated food chain for 50 years to understand how
changes in one link can cause changes in another.”

Key : A

Rubric : (1 point) Student selects the correct response.

G7_PracticeTest_ScoringGuide_ELA.docx 2



Smarter
Balanced

Assessment Consortium

Grade 7

Item:
Item # Grade Claim | Target| DOK | Standards Evidence Statement
The student will summarizhe central
idea of a subtopic in the text using
3 7 1 9 3 RI2 supporting evidence.

support your sumimary.

Summarize the central idea in the section "Ups and Downs.” Use key evidence from the text to

Score| Rationale [ Exemplar
A response:
1 Gives sufficient evidence of the ability
to determine/ summar.i Z
message/claim/point/central idea, or to
explain the support for a central idea
1 Includes specific examples/details that
make clear reference to the text
1 Adequately explainstheau t hor 6s The section AUps and Dow

message/claim/point/central idea, or
explanation with clearly relevant
information based on the text

Responses may include (but are not

limited to):

1 (central idea) The species on the island
are all interconnected.

1 (support) The moose affect the growth
of the pine when the moose population
increases they eat more trees.

1 (support) The population of the wolves
affects the population of the moose.

1 (support) The pine trees and the wolves
are ultimately connected.

1 (support) The island eventually
reple nishes itself

food chain operates on the island. When the
moose increase, they eat more pines. When

the pines die, the moose have nothing to eat,

so they die. When there are plenty of moose,

the wolves eat well. When the wolves eat well,
they multiply. They require more moose to eat.
The connections between the species control

the population on the island as years go by.

A response:
1 || Gives limited evidence of the ability to
determine/ summar i

Z e

t

It focuses on how the life on the island is
connected. Wolves and moose and pines all
affect each other's populations.
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message/claim/point/central idea, or to
explain the support for a central idea

1 Includes vague/limited
examples/details that make reference
to the text

T Explains the
message/claim/point/central idea or
explanation with vague/limited
information bas ed on the text

Responses may include those listed in

the 2 -point response.

aut hor 69

message/claim/point/central idea, or to
explain the support for a central idea
OR
T Gives the authoros
message/claim/point/central idea, or
0 explanation, but includes no examples
or no exam ples/details that make
reference to the text

T Gives the authoros
message/claim/point/central idea, or
explanation, but includes no
explanation or no relevant information
from the text

A response:
1 Gives no evidence of the ability to
determine/ summari ze

t

Life is connected in a chain on the island.

G7_PracticeTest_ScoringGuide_ELA.docx




Smarter
Balanced Grade 7

Assessment Consortium

Item:
Item # Grade | Claim | Target | DOK | Standards Evidence Statement
The student will determine the meaning
of a word with multiple definitions using
4 7 1 10 2 R4, I-4.d | context clues from the text.

Read the sentence from the text.

On Isle Royale—a small, remote island in Lake Superior—wolves, moose, and balsam fir trees
are bound together in a three-link food chain.

The word remote has multiple meanings. What does the word remote most likely suggest
about human_contact with the island?

& The island can only be reached by radio signals.
® The island is an uncomfortable environment for humans.

€ The animals and plants on the island are rarely disturbed by humans because the island is
isolated.

@ The animals and plants on the island bear little resemblance to the animals and plants
humans usually encounter.

Key : C

Rubric : (1 point) Student selects the correct response.
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Item # Grade | Claim | Target| DOK Standards Evidence Statement
The student will make an inference
about thel dzii KpairNdgesfor writing
the article and support it with evidence
5 7 1 11 3 RI6 from the text.

This question has two parts. First, answer part A. Then, answer part B.

Part A

Which of these inferences about the author's point of view is best supported by the text?

& The author believes that all living things are connected.

@ The author believes that wolves are weaker animals than moose.

€ The author believes that all of the animals on the island will eventually disappear.

@ The author believes that the moose population will cause the extinction of the balsam fir.

Part B

Which sentence from the text supports your answer in part A?

[ "Scientists have been studying this isolated food chain for 50 years to understand how
changes in one link can cause changes in another.”

[ "As more moose are born on the island, they eat more balsam fir."

[ "Ten times the size of a wolf, a moose has long, strong legs and a dangerous kick.”

[ "However, when the moose population decreases, wolves starve.”

Key : A, A

Rubric : (1 point) Student selects the correct response for Part A and the correct

response for Part B.
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Item # Grade | Claim | Target| DOK | Standards Evidence Statement
The student will analyze or interpret why
the author structured elements within the¢
text in acertain manner and the impact @
6 7 1 13 3 RI5 that structure on meaning.

§WI1at is the author's most likely reason for including the "Isle Rovale” section in the text?

(& to explain why wolves are the island's only big predator

9 @ ®

Key : B

Rubric : (1 point) Student selects the correct response.
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Item:
Item # Grade Claim Target | DOK| Standards Evidence Statement
The student will analyze or interpret wh
the author structured elements within
the text in a certain manner and the
7 7 1 13 3 RI5 impact of that structure on meaning

§WI1at are the most likely reasons the author inclucded the section "Living Links” before the
sections "Isle Royale: Predators, Prey, and Producers” and "Ups and Downs”? Select two
options,

[] The section “'Living Links" introduces carnivores, and carnivores are mentioned in the last
two sections.

[] The section “'Living Links” identifies humans as consumers, and humans are addressed in
the sections that follow.

[1 The section “'Living Links" defines a food chain before the other sections give an example of
a specific food chain.

[] The section “'Living Links” explains how the sun provides energy for all living things, and
the sections that follow prove that this is the case.

[ 1 The section “Living Links” gives examples of food chains that are recognizable before the
other sections introduce a possibly unfamiliar food chain.

Key :C,E

Rubric : (1 point) Student selects the two correct responses.
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The student will identify text evidence to
8 7 1 1 2 RL:1 support a given conclusion based on the text

§Which sentences from the text best support the conclusion that, despite their sportsmanship,
the boys were highly competitive? Select all that apply.

[ ] "The two didn't become close friends because they were always on opposite sides.”

[ ] "During meets, as they pounded out mile after mile across the empty fields, Scott and
Brad formed an unspoken bond.”

[ | "In past races, Brad usually grabbed the lead, but Scott, with his strong finish, often
caught Brad on the final stretch.”

[ "But coming around the final turn, Scott cut to the inside to pass Brad and get in position
for a sprint down the stretch.”

[ "Brad, whose knees and hands were scraped and bleeding from falling on the cinders, was
struggling to regain his feet.”

[ "With Brad limping the final 50 yards, and Scott helping him every step of the way, the two
competitors crossed the finish line arm in arm.”

Key:C,D

Rubric : (1 point) Student selects the two correct responses.
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Item # Grade | Claim | Target | DOK | Standards Evidence Statement
The student will determine or summarizg
a theme or central idea of a text using
9 7 1 2 3 RL:=2 supporting evidence.

Determine the central idea of the text. Analyze the development of the central idea by using
key events_ in the text,

Score| Rationale [ Exemplar

A response:

1 Gives sufficient evidence of the
ability to determine/summarize the
theme/central idea/message, or to
analyze the development of the
central idea

1 Includes specific examples/details
that make clear reference to the
text

1 Adequately explains the
theme/central idea/message or
analysis with clearly relevant
information based on the text

Responses may include (but are not

limited to):

1 (central idea) Good sportsmanship
is more important than competition.

T (support) HAéthe boy
admiring each other
skills. o

T (support) AWho won
|l onger mattered. 0

1 (support) Scott  helped Brad across
the finish line.

The central idea of the story "When Winning Took

a Back Seat," is that good sportsmanship is more
important than competition. The authors develop

the idea of this central idea by first introducing

two likable characters, Brad and Scott. No matter
whose team won, the boys always complimented
each other on the way they played. Brad and

Scott play a number of sports and their teams
frequently compete. The authors point out how
the boys, fadmire each oth
This helps to exemplify the beginnings of good
sportsmanship between the young men. As the
story progresses, the authors mention the mutual
respect the athletes have for each other. When

Brad is injured, Scott helps him to the finish line.
Both boys win  first place, exemplifying the central
idea.
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A response:

1 Gives limited evidence of the ability
to determine/summarize the
theme/central idea/message, or to
analyze the development of the
central idea

1 Includes vague/limited
examples/details that make
reference to the text

1 Explains the theme/central
idea/message or analysis with
vague/limited information based on
the text

Responses may include those listed

inthe 2 -point response

The central idea of the story is good
sportsmanship. Both boys always t

with respect and admiration. In the end, when
one boy is hurt, the other chooses his friend over

winning.

reat each other

A response:

1 Gives no evidence of the ability to
determine/summarize the
theme/central idea/message, or to
analyze the development of the
central idea

OR

1 Gives the theme/central
idea/message or analysis, but
includes no examples or no
examples/details that make
reference to the text

OR

1 Gives the theme/central
idea/message or analysis, but
includes no explanation or relevant
informatio n from the text

The author shows that good sportsmanship is

important.
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Item # Grade Claim | Target| DOK | Standards Evidence Statement
The student will determine the definition
10 7 1 3 2 RL4, -4.a | of a word by using context clues.

Read the sentences from the text. Then, answer the question.

"One of the runners has to win, but that doesn’t mean the other one has to lose,” said Scott's
coach, Sam Moore. "I know Scott wouldn't want to have his victory tainted. I say we give both
kids first place.”

Moore's suggestion won unanimous approval from Brad’s coach and the judges. The race was
declared a dead heat.

Which. word. means_the opposite of unanimous?

-

& accepted
® cheerful
© divided

b expected

Key : C

Rubric : (1 point) Student selects the correct response.

G7_PracticeTest_ScoringGuide_ELA.docx 12



Smarter
Balanced Grade 7

Assessment Consortium

Item:
Item # Grade | Claim | Target | DOK | Standards Evidence Statement

The student will determine the author's
purpose for including specific elements
the text and support thoséndings with
11 7 1 4 3 RL=-3 evidence from the text.

This question has two parts. First, answer part A. Then, answer part B.

Part A

What is most likely the authors’ intent by recounting the techniques Scott and Brad use to
run the race?

(& to show that the boys are good athletes

® to build suspense about who will win the race

9]

© to create doubt that the boys are following the rules of racing

o

@ to show that the race is the most important element in the story

Part B

Which sentence from the text best supports your answer in part A?

[ "Their most memorable race—the one track and field coaches still talk about—occurred
curing the 1970 cross-country regional meet, with the winner going to the state finals.”

[ "“In past races, Brad usually grabbed the lead, but Scott, with his strong finish, often
caught Brad on the final stretch.”

[ "When the pair dashed through the stadium tunnel and onto the track for the final lap,
the capacity crowd rose to its feet to cheer the runners who were now racing stride for
stride.”

[ "But coming around the final turn, Scott cut to the inside to pass Brad and get in
position for a sprint down the stretch.”

Key :B, B

Rubric : (1 point) Student selects the correct response for Part A and the correct
response for Part B.
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ltem# | Grade | Claim | Target | DOK | Standards Evidence Statement

The studenwill form a conclusion about a
literary text and identify details within the
12 7 1 4 3 RL-6 text that support that conclusion.

This question has two parts. First, answer part A. Then, answer part B.

Part A

Click on the statement that best provides an inference about Brad that is supported by the
text.

A. Brad is angry at his bad luck.
B. Brad is grateful for Scott's help.
C. Brad is upset that he injured himself.

D. Brad is embarrassed by Scott's gesture.

Part B

Click on the sentence from the text that best supports your answer in part A. Choose one
option.

Who won or lost the race no longer mattered to Scott. His friend and competitor was hurt.
Scott knew what he had to do—he went back to help. "Give me vour hand, Brad,” said Scott.
“"Let me help you.”

Brad looked up at Scott, smiled, and said, "Man, you're something else.” Scott pulled his
injured rival to his feet but Brad was hurting so badly that he couldn't run very well. So Scott
put his arm around Brad and the two began trotting down the final stretch. The thousands of
fans in the stands gasped when they saw Scott’s gallant gesture and then erupted into
thunderous applause.

Key : Part A: B; Part B: Brad | ooked up at Scott, smil ed, and

BN

something el se. 0

Rubric : (1 point) Student selects the correct response for Part A and the correct
sentence for Part B.

G7_PracticeTest_ScoringGuide_ELA.docx 14



Smarter
Balanced Grade 7

Assessment Consortium

Item:
Item # Grade | Claim| Target| DOK Standards Evidence Statement

The student will analyze the
relationships among the characters'
13 7 1 5 3 RL=-3 interactions within the text.

This question has two parts. First, answer part A. Then, answer part B.

Part A

Click on the statement that best explains how the characters' interactions develop over the
course of the text.

A. The boys begin as athletic rivals and become friends.
B. The boys are not friendly, but they respect each other.

C. The boys never become friends since they are from different areas.

D. The boys grow to dislike each other as the competitions between them grow more intense.

Part B
Click on all of the sentences from the text that best support your answer in part A.

Scott Bennett and Brad Howes grew up south of Salt Lake City in the fertile valley between
the Jordan River and the towering Wasatch Mountains of Utah. The boys lived just far enough
apart not to attend the same schools, but close enough to compete in the same leagues in
baseball, football, and basketball.

No matter whose team won, Scott and Brad always shook hands and complimented each
other on the way they played. The two didn't become close friends because they were always
on opposite sides. But the boys grew up admiring each other's athletic skills.

Key : Part A: A; Part B: No matter whose team won, Scott and Brad always shook hands
and complimented each other on the way they played.; But the boys grew up admiring
each others' athletic skills.

Rubric : (1 point) Student selects the correct response for Part A and the two correct
sentences for Part B.
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Item # Grade | Claim| Target DOK | Standards Evidence Statement
The student will determine how the
setting of the text adds to the
14 7 1 6 3 RL:5 characterization.

How do the first two paragraphs add to the development of the characters in the text?

(&) The paragraphs indicate that the boys are from two very different environments.

(® The paragraphs help the reader to understand how athletic both of the boys are.

(¢’ The paragraphs help set the story among mountains and rivers which shape how the boys

qrow.

@ The paragraphs help the reader to understand how unlikely it is that a friendship would

develop between the boys.

Key : D

Rubric : (1 point) Student selects the correct response.
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Item # Grade | Claim | Target | DOK Standards Evidence Statement

The student will interpret the
meaning of figurative words and
phrases used in context and analyz
15 7 1 7 3 L5 its impact on meaning or tone.

Read the sentences from the text.

Brad liked to set a blistering pace early in the race, which wore down most other runners who
tried to keep up with him. Scott, meanwhile, had a strong finishing kick, which had him
breathing down the leader’s neck on the final stretch.

Select the statement that best describes what the use of the underlined phrases "blistering
pace” and "breathing down the leader’s neck” adds to the reader's understanding of the text,

&) The phrases show the competitive nature of both runners.
® The phrases share the character's experience with the reader.
© The phrases establish a serious tone to use throughout the story.

@© The phrases create a picture of the heat experienced by the runners.

Key : A

Rubric : (1 point) Student selects the correct response.

G7_PracticeTest_ScoringGuide_ELA.docx 17



Grade 7

Item #

Grade

Claim

Target

DOK

Item:
Standards

Evidence Statement

16

1b

W-3.d

The student will use information
provided in a stimulus to writevell-
developed narratives that apply narrativ|
techniques such as including descriptive
details and sensory language that convg
events/experiences

Key : D

Rubric : (1 point) Student selects the correct response.
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